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Aqueous Solutions
Acid-Base Titrations
Summary:  When an acid and a base neutralize each other, one thing is absolutely true at the equivalence point (neutralization point):  The moles of H+ = The moles of OH-. 

Remember that the moles of anything in aqueous solution can be determined by multiplying the Molarity of the solute by the Liters of solution.  
 
You must be given 3 of the 4 above variables and then you can solve for the fourth variable.  
The act of neutralizing an acid or a base by carefully adding a solution from a buret is called a TITRATION.  A titration allows you to determine the concentration (molarity) of an acid or a base.  Try the following titration problems.
 
1) If 33.82 ml of an HNO3 solution of unknown molarity requires 29.95 ml of 0.100M NaOH solution to be neutralized, what is the concentration of the HNO3 solution?
 
 
 
 
 
 
 
 
 
 
2) What is the concentration of hydrogen ion, H+, present in a water sample if 100. ml of the sample requires 7.2 ml of 2.5 x 10-3 M NaOH to be neutralized?
 
 
 
 
 
 
 
 
 
3) Suppose that 15.0 ml of 0.0250M aqueous H2SO4 is required to neutralize 10.0 ml of an aqueous solution of KOH.  What is the molarity of the KOH solution?
 
 
 
 
 
4) In a titration experiment, a 12.5 ml sample of 0.0175M Ba(OH)2 just neutralized 14.5 ml of HNO3 solution.  Calculate the molarity of the HNO3 solution.
 
 
 
 
 

 
5) What volume of 1.00M NaOH is required to neutralize 35.0 ml of 0.102M hydroiodic acid, HI?
 
 
 
 
 
 
 
 
 
 
 
 
6) What volume of 0.250M HCl is required to neutralize 25.0 ml of 0.103M NaOH?
 
 
 
 
 
 
 
 
 
 
 
 
 
7) What volume of 0.250M HCl is required to neutralize 50.0 ml of 0.00501M Ca(OH)2?
 
